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نموذج ( أ ) 
THE HASHEMITE KINGDOM OF JORDAN-MINISTRY OF EDUCATION
GENERAL SECONDARY CERTIFICATE FINAL EXAMINATION – 2014. 
GENERAL ENGLISH
الدورة الشتوية/ المستوى الثالث
DATE:    /    /2016.                                                          TIME: 1 HOUR AND A HALF
ملحوظات:  (1)  أجب عن جميع أسئلة هذه الورقة.                 (2)  للمتقدمين لجميع الفروع الأكاديمية.
                      (3) عدد صفحات هذا الامتحان (4)  وعدد الأسئلة (5 ) .                                                                         

Read the following text carefully, and then in your ANSWER BOOKLET answer
all the questions that follow. Your answer should be based on the text.

      The rainforest of the Amazon region of Brazil in South America covers five percent of the world’s land surface and is home to at least 30 percent of the world’s animals and plants. The area is also the home of 220,000 people from 180 different tribes who live deep in the forest. The rainforest itself is an important environment but, because of its size and location, it also plays a vital part in controlling the world’s climate. It does this by taking in carbon dioxide and releasing oxygen.
     Farmers use most of the new land to grow soya beans, which they export to other parts of the world to be used as animal food. Millions of chickens in western European countries are fed on South American soya beans. Increasingly, some soya beans are also being turned into food for human consumption. Many vegetarian foods are based on soya beans.
      Other areas of the rainforest are cleared by ranchers who use the land for their cattle, by loggers who sell the valuable tropical hardwood from the trees they cut down, or by oil companies who are trying to find more oil. These activities help to improve the economy of the region, but at the expense of the future of the global environment.
    In addition to destroying ancient forests and changing the world’s climate, deforestation is having a devastating effect on native populations who are dependent on the rainforest for everything they need from food and tools to medicines and shelter.

Question Number One  (20 points )
A.
1. The rainforest of the Amazon plays a vital part in  controlling the world's climate by two 
    ways. Write down two of them.                                                                     (4 points )
2. The native population of the Amazon depend on the  forests for everything they need.  
    Write down two of them.                                                                                (4 points )
3. Quote the sentence which indicates that vegetarian food contains Soya beans. 
                                                                                                                       (3 points )
4. Find a word in the third paragraph which means " affecting the whole world". 
                                                                                                                               (2 points )
5. What does the underlined word “which”, refer to.                                        (2 points )
6. According to the text, the writer thinks that the rainforests of the Amazon are cleared for many reasons. Explain that. Justifying your answer.  Suggesting three ways in which we can reduce cutting and clearing the rainforests.                                                 (3 points )                    
                                                                                                       SEE PAGE TWO….
                                                        PAGE TWO       
B. Critical Thinking :    (5 points )
1. Human activities are the main reason for destroying the rainforests of the Amazon . Think of this statement and then , in two sentences write down your point of view.
                                                                                                                            (2 points )
2. The writer thinks that the rainforests of the Amazon are cleared for many reasons. Explain that. Justifying your answer.  Suggesting three ways in which we can reduce cutting and clearing the rainforests.                                                                   (3 points )
Question Number Two (15 points)
A. Choose the suitable item from those given to complete each of the following
     sentences and write it down in your ANSWER BOOKLET.              (8 points )
 (
viruses
  ,  materials    ,   confidential   ,  deteriorated  ,   
give the 
green
 light
)

        
        1. The government will surely -------------- for the project of a new airport.
        2. Criminals may get into computer systems to find out ---------------information.
        3. Grass and sugar cane are two of the ------------------used to make paper.
        4. The economic situation in Ireland ------------------between 1820 and 1840.
B. Study the following sentence  and answer the question that follows. Write the     
     answers in your ANSWER BOOKLET.                                                      (3 point ) 
· We will run out of space to use as landfill sites in 2025.
          What does the phrasal verb mean ?
          ----------------------------------------------- .
· King Abdullah II is the ruler of Jordan.
What does the underlined word mean ? 
----------------------------------------------- .
· The teacher asked the student to rewrite his homework again. 
What does the underlined prefix mean in the sentence ?
 ---------------------------------------------- .
C. Choose the answer from those given to complete each of the following sentences and  write it down in your ANSWER BOOKLET.                                (4 points )
1. The storm cause the -------------------------- of many crops.    ( destroy ) 
2. The win was blowing ------------------------------- .    ( violent ) 
3. That strange man was found ---------------------- by murder from the first degree. (guilt) 
Question Number Three :( 12 points)
A. Correct the verb between brackets, then write your answer down in your ANSWER    BOOKLET.                                                                                  ( 6 points )
1. Nada has -------------- French in this school for over twenty years.   ( be, teach )
2. Our neighbours -------------- already----------- their flat.                     ( paint )
3. They started the conference after they ------------------the hall.          ( prepare )
4. I wish I ----------------- learn more than one language.  ( learn ) 
5. The driver must have ------------------ late       .    ( leave ) 
6. I wish she ------------------ at my class.  ( not , be ) 
7. The children have ----------------------- the same movie all week .  ( be , see ) 
8. Some people ---------------- recently ------------------ their old houses.  ( sell ) 
9. The girls went home because the party ------------------- earlier than expected.  ( finish ) 
                                                                                                   SEE PAGE THREE….
                                                   PAGE THREE 
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1. Grow more soya beans. Farmers tend to overcultivate their lands.  
 (
in order to  , because 
)



2. He felt ill during the night. Marwan didn't come to school yesterday.  
 (
in order to  , because 
)


3. He can meet his brother Rakan. Amer went to the airport.     
 (
so that   , because 
)


Question Number Four :   ( 8 points )
A. Write sentences which explain the possibilities of the following situations using the 
     suitable modal verbs from the box. Write the answers down in your ANSWER 
 (
must have     ,  can't have   ,  might have 
)     BOOKLET.                                                                                          (6 points ) 


1. Ahmed's class starts at 8:30. It is 8:45 and he is not here yet. I am unsure whether
he has missed the bus or not. 
Ahmed ---------------------------------------------------------------------------------------- .

2. Salma's plants are dead. I am sure she hasn't watered them.
Salma ------------------------------------------------------------------------------------------ .

3. Rashed  passed his tests. I am almost certain he had studied harder.
--------------------------------------------------------------------------------------------------- . 


B. Complete the following mini-dialogue below using an expression that expresses 
     agreement, and write it down in your ANSWER BOOKLET.      ( 2 points )
     Marawn : I think that exam period is really stressful for parents and students.
     Hanan :   I agree with you .

         What is the function of Marwan’s response ?
         ------------------------------------------------------------ .



                                                                                                     SEE PAGE FOUR…..
                                                          PAGE FOUR

Question Number Five : ( 15 points)

[image: ]

[image: ]
[image: ]

                                                      THE END
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نموذج ( ب ) 
THE HASHEMITE KINGDOM OF JORDAN-MINISTRY OF EDUCATION
GENERAL SECONDARY CERTIFICATE FINAL EXAMINATION – 2014. 
GENERAL ENGLISH
الدورة الشتوية/ المستوى الثالث
DATE:    /     /2016.                                                          TIME: 1 HOUR AND A HALF
ملحوظات:  (1)  أجب عن جميع أسئلة هذه الورقة.                 (2)  للمتقدمين لجميع الفروع الأكاديمية.
                      (3) عدد صفحات هذا الامتحان (4)  وعدد الأسئلة (5 ) .                                                                                                                                                

Read the following text carefully, and then in your ANSWER BOOKLET answer all the questions that follow it. Your answer should be based on the text.

          We usually think that greenhouse gases are harmful, but without these gases, the climate of the Earth would be like the climate of Mars: too cold for human beings to survive. Greenhouse gases, which include carbon dioxide and methane, keep the heat of the sun in and prevent our planet from freezing.
       However, for the last 200 years people have been using enormous quantities of fossil fuels like coal, gas and oil. When these fuels are burnt, they produce large amounts of carbon dioxide and this keeps more of the sun’s heat in. The result is that the temperature of the Earth is rising year by year. This is leading to more extreme weather: high winds and heavy rain, which produce storms and flooding.
       The problem is made worse by the fact that we are destroying the world’s rainforests. Trees naturally consume carbon dioxide, but because there are fewer trees, more carbon dioxide is released into the atmosphere. Because of the increase in the Earth’s temperature. The ice at the north and south poles is melting. And this is causing sea levels to rise. Eventually, many areas of land which are now on the coast will be flooded.
     Leading scientists are warning that if the authorities don’t introduce new laws to reduce greenhouse gas increases now, the results could be disastrous for life on Earth.

Question Number One ( 20 points)
A.
1- There are many benefits of greenhouse gases. Mention these benefits.             (4 points)
2- There are many kinds of fossil fuels. Mention two of   these kinds.                  (4 points)
3- Quote the sentence which indicates that the ice in both poles is melting .   (3 points)
4- Replace the underlined word "reduce", in the last paragraph with a suitable three – part
    phrasal verb.                                                                                               (2 points)
5- What does the underlined word " which", refer to?                                    (2 points)






                                                                                                        SEE PAGE TWO…

                                                              PAGE TWO 
B- Critical Thinking ( 5 points )
1.  Greenhouse gases can be both useful or un useful . Think of this statement and in
two sentences write down your point of view.                                             (2 points)
2.  The writer thinks that the problem is made worse by destroying the world’s rainforests . Explain this. Justify your answers. Suggesting three ways in which people can reduce the amount of greenhouse gases in the atmosphere.                                              (3 points)


Question Number Two (15 points)
A. Choose the suitable item from those given to complete each of the following     
     sentences and write it down in your ANSWER BOOKLET.             (8 points)

 (
hot
   
 ,
    
tiny
   
,
  
 society
  
, export
  
, 
see red 
)

1- The word ---------------------- means sending something for sale in another country.
2- These potatoes are too hard. We obviously -------------------------------them.
3- If someone accuses you of being lazy , for sure you will ------------------------ . 
4- The appropriate opposite word of -------------------------- is the word huge

B. Study the following sentence and then  answer the question that follows, then write
the answer in your ANSWER BOOKLET. (3 point)

Taking another person's property is theft.
       What does the underlined word mean?
       ------------------------------------------------------------ .

     I am doing my math homework , can I borrow your ruler , please ?
            What does the underlined word mean?
             ---------------------------------------------------------- . 

C. Choose the best answer form of the word from those given to fill in the blanks and
     write it down in your ANSWER BOOKLET.                                   (4 points)
1. Maha is --------------------- for being late from the class.    ( guilt )     
2-many people believe that most crimes are murder and other -------------acts . ( violence )
Question Number Three : (12 points)
A. Correct the verb between brackets, then write your answer down in your ANSWER     BOOKLET.                                                                           (6 points)
1. I--------------already -----------------my leg, so I can't go skiing this winter.      (break)
2. After I ------------------------ of visiting China before I spent three weeks there.  ( dream ) 
3. Hanan has -------------------------- on her project all night.    ( be , work ) 
4. I wish I -------------------- a student here.    ( not , be ) 
5. The man must ------------------------ to tell the truth.   ( forget ) 
6. Amani can't be -------------------- now , we are waiting our guests.  ( sleep )
                                                                                                       SEE PAGE THREE…

                                                  PAGE THREE

B. What is the difference in meaning between underlined words in the following 
     sentences , write the answers down in your ANSWER BOOKLET. (4 points ) 
هذا النمط والسؤال يطلب منك عزيزي الطالب التفريق في المعنى بين الجملتين :                                         
1. In 1854, most of the population emigrated to America. 
2. By 1854, most of the population had emigrated to America. 

1. Hani has studied law and history for three years. 
2. Hani has been studying law for three years. 

C. Choose the suitable word from the box to complete each of the following spaces and  write the answers down in your ANSWER BOOKLET.    (2 points )  
 (
eighty and five  ,  finished  , eighty-five  , studying 
)
 
     My brother Ahmed --------------- school in 2013, he has been ------------------ for more 
     than four years. At university he achieved ---------------- percent at final grade.  
 Question Number Four :  ( 8 points ) 
A. Complete the following sentences so that the new sentence is similar in meaning to  
     the one before it, then write it down in your ANSWER BOOKLET.       (6 points)
( نمط سؤال اعادة الكتابة الشتوية والصيفية 2013م) محتمل                                            
1.  Majed went to the airport so that  he can meet his brother early.أدوات الربط       
           Majed went to the airport in order to------------------------------------------------- .
2. We don’t spend much time in our journey in Aqaba. الندم     
          I wish ------------------------------------------------------------------- .
3. I am sure that Ali was more active than his friend Salem . التخمين   
Ali must have --------------------------------------------------------- . 


Complete the following mini-dialogue below using an expression that expresses 
     disagreement, and write it down in your ANSWER BOOKLET.      ( 2 points )

        Salam: I think the traffic in big Jordanian's cities  in a serious problem.
        Muna: ----------------------------------------------------------.

                                                                                        


                                                                                                            SEE PAGE FOUR…

                                                            PAGE FOUR 
Question Number Five:   (15 points)
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 (
dust
 
which this produces can travel long distances, desertification can create
strong winds and dangerous 
wildfirez
, deforestation - the cutting down of
trees - also 
irodes
 
the 
soel
.
)





B. GUIDED WRITING: (4 points)
Read the information in the table below then, in your ANSWER BOOKLET, write
two sentences about why do farmers cut the rainforests ? Use appropriate liking words such as : and,  also, too , moreover , in addition to ………. etc.

	Why do people cut the rainforests ?

	- grow Soya beans. 
- sell the valuable hardwood.
- graze their animals. 
- try to find more oil.




C. Free writing: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE
of the following:
1- Car accidents happen everywhere and every time. Write a letter for your school
magazine mentioning the causes of such accidents and suggesting possible
solutions to reduce them.
(Your name Nihad, your address P.O Box 1646, Amman, Jordan)
2- Each one has a significant event that changed his / her life . Write about an event
changed your life positively or negatively , how old were you , where were you , what
happened , how did you feel , who was involved and what were the results of this
change ?.


 
                                                                THE END




[image: شعار]
نموذج ( ج ) 
THE HASHEMITE KINGDOM OF JORDAN-MINISTRY OF EDUCATION
GENERAL SECONDARY CERTIFICATE FINAL EXAMINATION – 2014. 
GENERAL ENGLISH
الدورة الشتوية/ المستوى الثالث
DATE:    /     /2016.                                                          TIME: 1 HOUR AND A HALF
ملحوظات:  (1)  أجب عن جميع أسئلة هذه الورقة.                 (2)  للمتقدمين لجميع الفروع الأكاديمية.
                      (3) عدد صفحات هذا الامتحان (4)  وعدد الأسئلة (5 ) .                                                                         

 Read the following text carefully, and then in your ANSWER BOOKLET answer all the questions that follow it. Your answer should be based on the text.
In 2003, 410,000 non-British citizens emigrate to live In the UK and 100,000 British people return to their home country from Spain, Australia and other countries where they had gone to live or work. In the same period, 170,000 non-British citizens left the UK to live in other countries. 190,000 British people also left. 
     Traditionally, many of these migrants used to come from countries in Africa or Asia, but now, growing numbers are from poorer countries in Eastern Europe such as Poland, Hungary, and Russia. Many new migrants take low paid jobs which British people don’t want to  do, like cleaning, picking fruit and vegetables, looking after old people are doing repetitive factory work. 
Minority come to work in well-paid jobs, for example as dentists or doctors. Many of these migrants do not intend to stay in Britain. They  send some of  their earnings home to their families. But even though they  can only afford to live simple life. Some share accommodation with another migrant family. British citizens who leave the UK to live abroad go mainly to countries with warmer climates and cheaper houses, countries like Spain, Greece, France or Turkey.
Question Number One : ( 20 points )
A. 
1. British people go to other countries for two specific reasons. Write them down.
2. Many new migrants take low paid jobs. Write down two of these jobs.
3. Quote the sentence which shows that migrants do not intend to live long in Britain.
4. Find a word in the first paragraph which means " to leave your country".
5. What does the underlined word " who", refer to ?
6. Quote the sentence which shows that some migrants share to live with other family.
7. What does the underlined word mean ? 


                                                                                          SEE PAGE TWO….

PAGE TWO
Critical thinking : ( 5 points ) 
1. It is the responsibility of the country to provide unemployed people with jobs . think of this statement and then in two sentences write down your point of view.
2. The writer says that most British people don't do low-paid jobs. Explain this statement . justifying your answer. Suggesting three ways in which government can encourage citizen to accept these jobs. 

Question Number Two : ( 15 points )
A. Choose the suitable item from those given in the box to complete each of the 
following sentences and write it down in your ANSWER BOOKLET.   (8points)
 (
ruler
    
,
    
 viruses
    
,
      
 redo
      
,
      
 note
    
 ,
     
 misuse
)


1. If you --------------- the equipment , it will not work properly.
2. His Majesty King Abdullah the second is the --------------- of the Hashemite Kingdom of Jordan.
3. Some people send --------------- to the computers which damage the computers and the information .
4. I did my homework quickly, so my teacher asked me to ---------------it.

B. Complete the following sentences with the suitable words derived from the 
     words in brackets and write the answers down in your ANSWERS BOOKLET. 
                                                                                                                     ( 4 points ) 
1.   The--------------------- of the world’s migrants move to find a better life. (major)
2. The people of Tristan da Cunha left because of volcanic----------------  . (act)

C. Study the following sentence and answer the question that follows. 
     Write the answer down in your ANSWER BOOKLET.      ( 3 points ) 
We’ve come up against serious problems in our plan to recycle rubbish.
What does the underlined three- part phrasal verb mean ? 
------------------------------------------------------------------ . 





                                                                                   SEE PAGE THREE …..


PAGE THREE
Question Number Three : ( 12 points )
A. Correct the verbs between brackets then write your answers down in your 
     ANSWER BOOKLET.             ( 6 points ) 
1. The children ------------ lately -------------- the class.  ( enter ) 
2. Muna --------------------------- on her project all night. ( be ,  work ) 
3. I wish I -------------------- more than one language.   ( learn ) 
4.Shadi -------------- her school in 1999.  ( start) 
5. By 1854, most of the farmers --------------------- to America.  ( emigrate ) 
6. The men must have ----------------- a lot of work to be tired. ( finish ) 

B. Combine each pair of sentences below into one meaningful sentence , using the
     suitable given words and phrases from the box below, and write it down in 
     your ANSWER BOOKLET.                                     (4 points ) 
 (
in order to ,    because   ,   so that
)

1. Some people like the technological devices. They can  save time and money when
using them. 
         
2. Meet his friend Hashem. Rakan went to the airport yesterday.  

Question Number Four : ( 8 points ) 
A. Write sentences which explain the possibilities of the following situations using 
     the suitable modal verbs from the box, write the answers down in your 
     ANSWER BOOKLET.              ( 4 points ) 
 (
must have   ,  can't have   ,  might have  
)
                                                                                                                           
1. Salma has a good English accent. I'm almost certain she has lived with an English family for many years. 
      Salma --------------------------------------------------------------------------------------- .
2. Lamia was really tired last week, that why I am almost sure she didn't go work.
Lamia ------------------------------------------------------------------------------------ .

B. Complete the following mini- dialogue below using an expression which shows
 argument , and write the answer down in your ANSWER BOOKLET.
                                                                                                      ( 2 points ) 
    Rashed : I think that Tawjihi in Jordan is really easy. 
    Marwa :  ------------------------------------------------------------ . 
                                                                                              SEE PAGE FOUR …..
                                          PAGE FOUR 
C. Write sentences responding to the following situations beginning with I wish.
                                                                                                              ( 4 points ) 
1. I don't have many friends in this town. 
2. I would like to be an English teacher. 
3. I read slowly and I would like to read more quickly. 

Question Number Five : ( 15 points )
A. GUIDED WRITING : ( 4 points ) 
     Read the information in the table below, and then in your ANSWER 
     BOOKLET write two sentences about the what are the disadvantages of cutting 
    down trees. Using appropriate linking words such as : and , too , in addition to , 
    moreover ,  etc..
	The disadvantages of cutting down trees …. 

	· destroy the ancient forests. 
· affect the animals and plants habitat.
· change the world's climate.  




B. FREE WRITING :  ( 7 points ) 

[image: ]
1. Write an email to your friend , describing an event which happened to you in
the past which affected your life, saying what happened to , and where , and 
what have you learned from it . 

2. Do you think companies should allow their employees to use the internet for 
Personal purposes . Write an essay discussing the advantages and the disadvantages of allowing employees to use internet for their own sake. 
C. EDITTING :  ( 4 points ) 
[image: ]
 (
Oil contributes to the 
developmint
  of the 
socaety
 , it improves the 
indastry
 and 
make many people 
megrate
 to the region to improve their own lives.  
)



THE END
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DATE:    /  6/2016.                                                          TIME: 1 HOUR AND A HALF
ملحوظات:  (1)  أجب عن جميع أسئلة هذه الورقة.                 (2)  للمتقدمين لجميع الفروع الأكاديمية.
                      (3) عدد صفحات هذا الامتحان (4)  وعدد الأسئلة (5 ) .                                                                         

Read the following text carefully, and then in your ANSWER BOOKLET answer all the questions that follow it. Your answer should be based on the text.
People leave their home countries for many reasons like economic success ,  economic necessity  and natural disaster.
      Economic necessity: in the early 19th century, the most important industry in Ireland was agriculture. But the farmers were poor and they used old-fashioned methods. Because they heard that they could earn four times as much in America, some farmers emigrated. But between 1820 and 1840, the economic situation in Ireland deteriorated and in 1845 the Potato Famine began. Disease destroyed 75% of the year's potatoes- the main food for most of the population. During the next two years, 350,000 people died of starvation and there was a huge increase in emigration to America. By the end of 1854, a quarter of the population of Ireland had left for the United States.
       Natural disaster : Tristan da Cunha is a small island in the South of Atlantic Ocean. In August 1961, earth tremors started and gradually became more frequent. At the beginning of October, the government decided that the island was no longer safe and the whole population of 268 people was evacuated to a nearby island. A ship picked them up and took them to South Africa. As they passed Tristan da Cunha, they saw the volcano erupt.
    Later the people were taken to England, where  they stayed for the next two years. In 1963, the volcanic activity on the island stopped and most of the people voted to go back. However, not everyone returned: 14 people had adapted to life in England and decided to stay there, and five elderly people had died. There were other changes too: ten couples from the island had married, and eight babies had been born.
Question Number One : ( 20 points )
A. 
1. People leave their home countries for many reasons. Write down two of them.
2. Farmers suffered from many bad conditions . Write down two of these conditions. 
3. Many consequences that occurred during the next two years of the famine. Write 
down two of them.
4. Not everyone returned to the island for many reasons. Write down two of them.
5. Write the underlined number in words. 
6. Quote the sentence which shows that a quarter of the population left for the united states. 
7. Find a word in the second paragraph which means " got worse". 
8. What does the underlined word mean ? 
B. Critical Thinking 
   1.   Emigration to another country can be related to many reasons. Think of this statement  and then, in two sentences write down your point of view. 
2. The writer mentions that the vote to go back wasn’t successfully achieved. Explain that, justifying your answer. Suggesting three disadvantages of emigration on countries. 

Question Number Two : ( 15 points )

A. Choose the suitable item from those given in the box to complete each of the 
following sentences and write it down in your ANSWER BOOKLET.   (8points)
 (
blue
   
, 
    
property
    
,
     
 red
     
,
     
 typing
    
 , case
)

1- The price of -------------------- in the city has increased dramatically this year
2- Secretaries used to spend most of their time --------------------letters and reports.
3- The judge in charge of the--------------------carried all his documents in a small bag.
    4- Last week, while I was walking I met Ahmad out of the-------------------- . 

B. Complete the following sentences with the suitable words derived from the 
     words in brackets and write the answers down in your ANSWERS BOOKLET. 
                                                                                                                     ( 4 points ) 
1. Many people find out about the world by reading a ---------- newspaper. (day)

2.  During the storm, there were ---------------  scenes in the city.   (chaos)

C. Study the following sentence and answer the question that follows. 
     Write the answer down in your ANSWER BOOKLET.      ( 3 points ) 

We’ve got to stop companies from polluting the environment. We should tell the public they have done something wrong.
Replace the underlined expression with its suitable colour idiom. 
----------------------------------------------------------- . 





Question Number Three : ( 12 points )
A. Correct the verbs between brackets then write your answers down in your 
     ANSWER BOOKLET.             ( 6 points ) 
1. The children ------------ lately -------------- the class.  ( leave ) 
2. Muna --------------------------- on her project all night. ( work ) 
3. I wish I -------------------- more than one language.   ( speak ) 
4. Shadia -------------- her school in 1999.  ( finish ) 
5. By 1854, most of the farmers --------------------- to America.  ( emigrate ) 
6. The men must have ----------------- a lot of work to be tired. ( do ) 


B. Combine each pair of sentences below into one meaningful sentence , using the
     suitable given words and phrases from the box below, and write it down in 
     your ANSWER BOOKLET.                                     (6 points ) 
1. Some people like the technological devices. They save time and money when
 (
in order to ,  because
)using them. 

2. Feeling ill during the night . Amani didn't go to work last wek. 
 (
in order to ,  because of
)

Question Number Four : ( 8 points ) 
A. Write sentences which explain the possibilities of the following situations using 
     the suitable modal verbs from the box, write the answers down in your 
     ANSWER BOOKLET.              ( 6 points ) 
 (
must have   ,  can't have   ,  might have  
)
                                                                                                                           

1. Salma has a good English accent. I'm almost certain she has lived with an English family for many years. 
      Salma --------------------------------------------------------------------------------------- .
2. Lamia was really tired last week, that why I am almost sure she didn't go work.
Lamia ------------------------------------------------------------------------------------ .
B. Complete the following mini- dialogue below using an expression which shows
     agreement , and write the answer down in your ANSWER BOOKLET.
                                                                                                      ( 2 points ) 
    Rashed : I think that Tawjihi in Jordan is really difficult. 
    Marwa :  ------------------------------------------------------------ . 



Question Number Five : ( 15 points )
A. GUIDED WRITING : ( 4 points ) 
     Read the information in the table below, and then in your ANSWER 
     BOOKLET write two sentences about the what are the advantages of recycling. 
    Using appropriate linking words such as : and , too , in addition to , moreover , 
    etc..
	What are the advantages of recycling …. 

	· save 30.000 litres of water.
· save 3.000 kwh of electricity. 
· reduce air pollution.
· protect our environment.  




D. FREE WRITING :  ( 7 points ) 
[image: ]
1. Write an email to your friend , describing an event which happened to you in
the past which affected your life, saying what happened to , and where , and 
what have you learned from it . 
2. Do you think companies should allow their employees to use the internet for 
Personal purposes . Write an essay discussing the advantages and the disadvantages of allowing employees to use internet for their own sake. 

3. EDITTING :  ( 4 points ) 
[image: ]

 (
Oil contributes to the 
developmint
  of the 
socaety
 , it improves the 
indastry
 and 
make many people 
megrate
 to the region to improve their own lives.  
)






THE END 
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